Estimated costs in FY05$
Project: 
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Please fill out the table to the best of your ability. This is for planning purposes only.

Give your best estimates- use rounded numbers. 
Your numbers should include contingency and any overheads/taxes from your institution.

The only manpower that may be included in project costs are engineers, technicians, and perhaps some management.

Total Estimated Cost (TEC) = PED/EDIA + Construction 

Total Project Cost (TPC) = TEC + R&D + Conceptual Design + Pre-operations

-If your project TPC is >$5M, then your EDIA (Preliminary and Final design) is supported through Project Engineering and 

Design funds (PED).

-FYI, if your project TEC is >$2M, that classifies your project as an Major Item of Equipment in the budget (as long as civil construction activities are not more than 20% of project cost)

-FYI, if your project TPC is >$5M, then you are subject to guidelines from DOE Project Management Order and Manual. 

If your project has a TPC cost of greater than $5M, remember that the start of CDR work is when you anticipate a CD0. 

If your project has a TPC cost greater than $5M, and you are requesting R&D support prior to a CD-0, then you are requesting pre-conceptual R&D. Please note it in the first row, but remember that pre-conceptual efforts do not get included in TEC or TPC. 
If you plan on redirecting funds from your institutional base, please note it in the provided column “Planned redirect”. Adjust the requested funds from NP by the re-direct and show it in the last column (needed New Funds: TPC-redirect). In the case of redirect, your TEC and TPC should reflect the full DOE investment (new $ and $ from your base).
If your current operating base will need an increase in order to operate the project once it is complete (after preops), then please identify the incremental amount for the out years and give a few sentence explanation:

Incremental operating support: 

